Class : VIII ] (Max. Marks : 80) [ Time : 2.45 Mnts.

KS -16
SELF ASSESSMENT TERM 1 MODEL PAPER - 2024 - 2025
MATHEMATICS
(English & Telugu Medium)
PART - A & B

Instructions : SrSSey :

1.

2

3.

8.

Question paper contains 2 parts (Part A & B).
) oSt (arfo - A, B) oy derirenodron.

. Part - A & B should be given at the ‘beginning of the exam only.

S08 | TBoFosS arifo - A & Jéw Ko - B 1 rm adidd8l.
15 minutes are allotted for reading the question paper (Part A & B)
in addition to 2.30 hours for writing the answers.

PNJESD (a0 - A, B) S$HSSTI8 15 d.o0, 2o T°chards
2.30 An JIDocho Gotod.

Part-A answers should be written in a separate answer book.
Write the answers to the questlons under Part - B on the questlon
paper itself. X ; - ;

grfo - A S @ﬁo& o;ﬁsvc;“moo aésvcr:é o@:soes‘é oSO,

o - B &0 @fhoh dSrmares @) JPoS*S orasrd.

There are three Sections in Part - A..

g0 - A S° B0560 - DeTIren. GO0

. Answer all the questions.

o) PHOR J3reNo. ToSrd. P

Every answer should be written v1$1ble and leglble
HIrErSo ByRor, @go &96’303@ oSTO.

There is an internal choice in Section - III. .
oo - I &° SrEd w0888 JodE &oenod.

Marks : 60 ] - PART-A. __mme‘,mm.

SECTION I

Note: ~ i Answer ALL the following questlons

®Q) BH 0% 2T 20w U‘d&o&
ii) Each question carries 2 Marks.’ . B :
@8 2% & Tod :6:‘63&:20 T ' : 4x2=8
1. If5x +9=5+3x, thenfmdthevalueofx o |
5% +9 =5 +3X @008 X DS EHAS0s.
2. Find the number of sides of a regular polygon whose each exterlor angle
has a measure of 45° :
r 2 23‘23‘3 §'m0 45°m Ko Léa’n mmeﬁna &wéb ghere ‘oo:pSE&) é:éaﬁ":So&
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KS - 16 2

3, What I8 the probabllity of getting an even number when n die is

Note

6.

}

.
.

thrown?
ol VUL KD ERoHB BOBopg B Sourdgd Dol ?
Find the perfect square nimbers hetween 30 and 40,
30 MDA 40 © Moag e HONE nu‘o&‘u Ko, 00,
~SKCTION - I
D Answer ALL the following questions,
BR) WHOK B rubod,
i) Ench question carrles 4 Marks,

96 BB 4 By e, § x 4 = 20
X=8 'x=3 ,
|\ 5 g then find the value of x.
x-5 x-3

= ool x denii B0l

-

3 . ,’.‘°“._.__._L...3‘. 3

Find the value of %§ ><( 3 ) 7 "7

2 -3

_g><(7) i '3'*":)03:6(\’»6:63(‘.‘60& ‘

Find the bmallubt number by which the number 675 must bc multiplied

to obtain a perfect cube ‘
D EQR e ﬁomgi‘ﬁ 675:63 (baﬁom‘) ©8 a&fgy“g @3:653(135‘ §:63§‘z,o&
A shop gives 20% dnscoum What would the sale price of each of

these be?
0 dosmod’ 5@,‘.@)0«9 20% CSoKm’m aQ @o& :6:63;5)0 eséog,)gz’;»)

1 Jo dod ?

'a)' A dress marked at 2120

w8 @5 GELS o T 120
b) A pair of shoes marked at ¥ 750 .
L 88 Do BELS 30 T 750

| . c)Abag marked at ¥ 250

o Hod PELY ':30 T 250

In a right triangle ABC,. ZB = 90°, if AB = 6 cm, BC = 8 cm,.
find AC.
eonE'e Bghao ABCeS' ZB =90 AB =6 20.%., BC =8 20.5.

wond AC & EXoEy08. .
[ Contd... 3rd
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KS-16 o T 3
, SECTION - 11
Note :i) Answer ALL the following questions.ed) $# o adwe Tdood.

ff) Each question carries 8 Marks. 8 %#%) 5 8 536 e
iii) There is an internal choice for every question,
28 ©BH K BogYE JoDE S, 4x8=32
‘ § -8
10. a) Find the value of '-3; ( ,1,) + (21 ) L (55'“) by writing their
propetties in each step.
6 5.

D8 BHS BB $omedd aawnco ( T )+ ( T ) (22)
B DBty Eorrsod.

hode (Or) (B>)
“ . . . . . . - 3
b) Find using distributivity {% A (’17)} N {% % 752_}
iy : ¥ ' '
{-Z— X (—1—2—)} + {% X %} ;’)e,r(f aﬁ’goﬁro.‘& ﬁécﬁrho& DB
E50rS308 - ' |

11 a) Solve @véoéo& 3(52 7) 2(92—- 11) 4(82— 13)-17
At (01‘) S)
3t =2 2t +3 21
4. 3 3
128 a) Explam how asquare is. %
| 1) a quadnlateral (i) a parallelogram (iii) a rhombus (iv) arectangle
) 1) i.Séodoe)aa’)Jo (11) coa’)svoéﬁd iﬁéadoe)aao (111) coéozﬁéod)ebao
1v) 86 iéééod@o © 808 rﬁéod@é:otéo A’)a’aaozﬁo&

- ~(Or) (B
b) The followmg f1gures GUNS and RUNS are parallelograms Fmd X

b) Solve é"éo:ﬁo& .

“and y.
Bod R5g2BI Sémen GUNS 508050 RUNS 5r088 WEENE 0

DS X 08030 Y Fodedy ESoRtdodn.

U [ Turn Over
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13. a)° Adjoining pic chart gives the expenditure (in percentage) on var
items and savings of a family during a month,
(K Bo%) B DIFOS* 18 Bata0e0 G398, O H8Y) 500650 o
(FrEr0St) WrddRdh,

House rent ‘ .
notd @@ 0% Education for children
THHE pow Dés 15%

IOUS

Do

Transport
oo 5%

| Food
@F*8o 25%

e “

Others
RSSX0en 20% ‘\v,

N

Savings Clothes
P 15% ¢odoen 10%

(1) On which 1tem the expendlture was max1mum‘7
- 5&) T YD mdob) B 2.
(i) Expendlture on which item is equal to the total savings of the
~ family?
. © Sotnowo B BV D&Y, P S50 95
(iii) If the monthly savings of the family is < 3000, what is the
monthly expenditure on clothes?
& $0nos) o T &>, 3000 @ooasévs‘ O 328 3o
P& ok ? .
| (Or) (535‘)
b) The number of students i m a hostel, speakmg dlfferent languages is

given below.
28 $08 Kyroes® é’)w’gdgw TE éavé.ra A’)&’)Cé RO BODHRAS0

DT e (Bl QSceTro®.

Display the data'in a pie chart.

5(‘0&) Sy '63?5)@506‘ dro)o& )

Language Hindi Enghsh Marathi| Tamil |Bengali [TOTAL
TR 08 | eofio | Soo78 |$2F |Borrd | awdo
Number of students ‘ A1
Da’gdgo Sopg | 40 12 9 7 4 72

B —


Highlight

Highlight

Highlight
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KS - 16 (B)
SELF ASSESSMENT TERM 1 MODEL PAPER - 2024 - 2025
MATHEMATICS
(English & Telugu Medium)
PART - B
Class : VIII ] (Max. Marks : 20) [ Time : 1 Hr.
AS.1 AS-2 | AS-3| AS-4 |AS-5| Total
Q.No 1,2|5| 10,11 |14-216 |12(22-25|7|26-29 (3,4 |8 [30-33 9|13| 33
Marks ‘
Allotted 32 16 8 12 12 80
Marks o
secured
Grade
Name of the student : Roll Number :-............ ..

1

2)

A3)

,4)

i Instructions: 3r$den :

Answer all the questions in Part B
@0 - B &' o) 3% 0% aTwen |TehIB.

Each question has 4 options. Write the capital letter mdlcatmg\

the answer in the given brackets. e

D8 PHKH 4 sTwen S0, /DD @J"s’éS‘ ‘0'6;6 oérs‘ééaaé) ar{ooii:

B0l ©FIIN |TRoE. : e
Marks are not awarded for over wntmg answers.
TEID, BB TS BT WK SrEy 0 BILNEY.

Each question carries 1 mark.

14. (-1)x —

A) %

B8 BHSH uE Sy,
T SECTION - IV

,  20x1=20
) 3 e T U A AT i) '
T 2 E ‘ | [ C 1

(5 fn T "
B) =~ . 0 &

15. The number of rational numbers between < and % is I D 1

3

% Sodosn -‘;— o D¢y s8sBoh Dopge dopg

A0

B)1 O3 D) Infinite

Z}Yorer:Te)
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KS - 16 (B) 2

16.

17.

18.

20..

Square root of the decimal number 2.56 is | (C ]
2.56 &7°0¥ Sowg GB0E), HERarwo ,
A) 0.016 B) 0.10 C)1.6 D) 16

A sum of X 10,000 is botrowed at a rate of interest 15% per annum,

Find the simple interest for 2 years. [ A ]

8. 10.000 ©& 15% S& Dt 2 Holwks 548 SIS, Sod
SoSEHT© SHTE LIV FBrIg G BB G50,

A) 3000 B) 2000 C) 1000 D) 1500

Identify the number whose square is closer to 250. [ A ]
250% SHSm ol $¢ Howgsy K80K0s. -

A) 16 B)S6 025 ~ D)200
%:%@o&)éx: .
R S

The measures of two adjacent angles of a parallelooram arem the ratio
1: 2Thenthetwoanglesare' o B [ C 1
- d8088 zﬁéodof)asoé“ Bodd &9&(‘6‘) §‘eave: X)oaa)é’é 1 2 eaooo:S

es Bocso Seareny .

A) 30° and 60° . B) 45° and 90°
- 30° 508050 60° L 45° SoB0s 90°
C).60° and 120° : . D) 80° and 100°
60°5000120° = 80°6a%s 100°

https: //sureshmathsmaterlal com/
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21

22,

24.

25.

What is the measure of an exterior angle of a regular octagon? [' [) ]
¥ ES wReHe Bk, ey 8°c00 B'eéf Dods ?

A) 60° B) 36° C) 54° 40Dy 452

Which of the following can be the digit of a perfect square

number [ C1
808 TES* I $§ Dopgdy woB 5HuR) ?

A)2 - B)3 C)5 D)7

Probability of getting a red ball from a bag that contains 2 red balls

and 4 green balls is [ D]

2 A8 woen 2805 4 w5l Do &) b0 $308 G
208 @"03 éow‘égé QoS ? ;

v pi ol U D')_i,

The smallest number by which 243 is multlphed to become a perfect cube
is B0 Ak 3 (6 , | B ]
243 388 oo, eiead w&)&) ) 823 @ospgz'f: 268007

A)2 YRR o) ' AP «D),5- :

Which of the following is not a linear equation d 1D 1

1808 FES® 28 BHah ¥ 56 ? | :
"'A)2y+5—1 B)z-1=0 Ox+3=7  D)5X +3=0

26 .

When a die is thrown the outcomes of an event of gettm prime
" numberare ‘ : 1 B
2.8 3D JVBIY, @6%‘6 (ooang a3°oCSJéJ§o eséaéyoﬁbzs qnéés"en
A)1;2,3and S ot i < B)2,3andS, s, e
1,2, 3508050 55 e s c iiid v 20, 3 S0OGI0 S i
C)1,2and3 ; . D)12345and6
12508003 12345500080 6
: Acucleoraphlsalsocalleda. 5 A [ C 1
353§ By DE"8 Ko 6§ 2k L AT :
A) line graph B)-double bar - graph .
Serogo | _=mon shy3zoigo
C) pie chart D) bar graph
=] 8o » Do ébo&'azp‘ DEo

[ Turn Over



KS - 16 (B) 4

28. Number of cuboids of sides 5 cm, 2 cm and 2 cm are needed to

form a cube [ C
5 0.0, 2 0.3, L0 2 o, Podes® Er8S bgoaen

ST DEBITB AR w58 ?
A) 40 B) 48 C) 50 D) 55

29. An item marked at ¥ 840 is sold for ¥ 714, What is the discount [ B 1
&, 840 ™ S8, VoedS 5299 G, 714 8 wlipbod. &37,08 Jod ?

]

A) 177 - B) 126 C) 100 D) 26
30. A scooter was bought at ¥ 1,00,000. Its-value depreciated at the rate
of 8% per annum. Its value after one year is [B 1

28 {86 §5.1,00,000 8 £K)B. & dens HoSH)T I8 8% oS
- B’ SHeod. o8 BodKBoarIS B Deod o ?
A) 90,000 B) 92,000 C) 96,000 D) 98,000

31. Which of the following polygon is a'convex polygon? [ C 1
8od TES Q& 2.)05"0253& §)oe,)‘s”c5 aamoa‘i)eg i .

( e edd

A By <

“https://sureshmathsmaterial com/-

- 32. Waheeda bought an air cooler for ¥ 3300 mcludmg a tax (V AT) of 10%.
The actual price of the air cooler before VATis *~ - | A ]
T5roe 10% VAT 9% 6.3300 & Jonb Sres Edoffes {'3‘&‘:0&

VAT & 50085 Jo0E Sred R0, @@w &6 Q08 ?° )
AT 3000  B)R30  OT2970  D)TIN

33. A perfect cube number m’ziy end with dorgiant, [ C ]
a8 o)bq?)"'d 208 DBE D &90@08 ;Saaﬂoﬁ:éﬁot) ? e

A) One zero 'B) Two zeroes C) Three zeroes D) Four zeroes

el oAy Codo e Sardd e eid SoTye
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SELF ASSESSMENT TERM 1 MODEL PAPER-2024-2025
VIII CLASS-MATHEMATICS

1. If5x49= 5 + 3x, then find the value of x.
Sol:5x +9 =5+ 3x

5x—-3x=5-9

2x = —4
Xx=—=
2. Find the number of sides of a regular polygon whose each exterior angle has a measure of 45°.

360° 360°

Sol: Number of sides = -
ol: Number of sides each exterior angle ~ 45°

3. What is the probability of getting an even number when a die is thrown?
Sol: when a die is thrown possible outcomes are 1,2,3,4,5,6
Even numbers are 2,4,6

Number of favourable outcomes 3
Number of all possible outcomes ~ 6
4. Find the perfect square numbers between 30 and 40.

Sol: The perfect square number between 30 and 40is 36

The probability of getting an even number =

1
2

SECTION - 11
5.2 = “Then find the value of x."
Sol:x—5:x—3
3 5
5(x —5) =€ (s \3)
Sx—25=3x¥9
by —3x=—93+25
2x = 16
x:EZS
2
6.Findthevalueof§x(_73)—1—14—§><%
Sol x> L33
B 7 14 7 5§

—3 2 3 3 1 g
=—X=4 (— —) X T 12 (by commutativity)
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_—3<2+3> 1
IE Y T

_—3x<5) 1
S ; 5/ 14

8 1
7 14

3x2-1 —-6-1 -7 -1
-7 14 14 14 2

7. Find the smallest number by which the number 675 must be multiplied to obtain a perfect cube

So0l:675 =(3%x3x%x3)x5x%x5

After grouping remaining is 5 X5

Hence, the smallest number by which it is to be multiplied to make it a perfect cube is 5

8. A shop gives 20% discount. What would the sale price of each of these be?

a) A dress marked at X120
Sol: MP of dress=%120

Discount =20% of 120

20
=——X 120 =2 X 12 =324

166
Sale price=Marked price-Discount
=120 — 24 =396

b) A pair of shoes marked at X 750
Sol: MP of shoes =X750

Discount =20% of 750

20
:mx750:2x75:%150

Sale price=Marked price—Discount
= 750 — 150 = X600

c¢) A bag marked at 250
Sol: MP of a bag =%250

Discount =20% of 250

_ 20 X 250 = 2 x 25 = 350
100 N N

Sale price=Marked price—Discount

3

3
3
5

675
225
(75
[ 25

5
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= 250 — 50 = X200

9.In aright triangle ABC, ZB = 90°, if AB = 6 cm, BC = 8 cm, find AC.
Sol:

From Pythagoras theorem

AC? = AB? + BC?

8 cm

AC? = 6% + 82
AC? =36 + 64 = 100 0"
AC =100 = 10 cm A 6om

SECTION - III

-8
21

10) a)Find the value of % i (_—6) + (

- ) + (%) by writing their properties in each step.

3, (=6 -8 5
sol: 2+ () + () + (%) 717,11,21,22
3X66+(—6)x42+(—-8)x22+5x21 1y K11 3, 22
- 462 113, 2
198-252-176+105 L.C.M0f7,11,21,22 =7 x 11 X3 X 2
B 462 _462

_303-—-428 —125
462 462

462 +~7 = 66; 462 +11 = 42;
462 + 21 =22; 462 +22 =21

w i e — 7 -3 7 5
b) Find using distributivity {E X (E)} + {E X E}
Sol: Distributive property: For all rational numbers a, b and ¢

ax(b+c)=axb+axc
= W
5 12 5 12

7 (—3+ 5)
12 12

:gx
7 2
“5712
7 %1 7
“5x6 30

11.a) Solve:3(5z —7)—2(9z—-11) = 4(8z — 13) — 17
Sol: 3(5z- 7)- 2(9z - 11) = 4(8z- 13)- 17

152 =21 — 1B+ 22 = 327 — 52 — 17
—3z+1 =32z —69
32z+3z=1+69

35z =70
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7,
£=35~
-2 e 7
b)Solve.T—T—E—t
oop 32 243 2
T3 3 3
LCM of 4,3=12
Multiply with’12’
3t—2 2t+ 3 2
12 X —12 X 3 =12X§—12Xt

33t —2) —4(2t +3) = 4x2—12t
9% —6-—8t—12=8—12¢
t—18=8—12t

t+12t =8 + 18

13t = 26

===
12. a) Explain how a square is.
i) a quadrilateral (ii) a parallelogram (iii) a rhombus (iv) a rectangle
Sol:(i) A square is a quadrilateral because it has four sides.

(ii) Square is a parallelogram because it’s opposite sides are parallel.

t 2

(iii) A square is a rhombus because it’s four sides is equal length.

(iv) A square is a rectangle because it's each angle is right angle.

b) The following figures GUNS and RUNS are parallelograms. Find x and y.

S 26 N N
3x 18
‘G 3y-1 U
Sol: GUNS:

3x = 18(Opposite sides of parallelogram are equal)
18 z

= TS —r

¥=3

3y — 1 = 26 (Opposite sides of parallelogram are equal)
=3y=26+1=27
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27
=>y:?:9

dx=6,y=9

RUNS:

y + 7 = 20 (Diagonals of parallelogram are bisect each other)
=>y=20—-7=13

x +y = 16 (Diagonals of parallelogram are bisect each other)

%+13 =16
x=16—13 =3.
rx=3,y=13

13. a) Adjoining pic chart gives the expenditure (in percentage) on various items and savings of a family
during a month.

House rent . :
notd og 10% _ Education for children
<THHE oo Dig 15%
Transport 4G H »
wosreno 5%
; Food
w80 25%
Others =
RESS0e0 20% oA

Savings Clothes
> 15% OB 10%

(i) On which item, the expenditure was maximum?

Sol: Food

(ii) Expenditure on which item is equal to the total savings of the family?

Sol: Education of children.

(iii) If the monthly savings of the family is X 3000, what is the monthly expenditure on clothes?

Sol: 15% of x=33000

15
— X x =33000

100
3000 x 100
X = T = %20,000

Total income=320,000
The monthly expenditure on clothes=10% of X20,000

_ 1 x 320,000
100 ’
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= %2000

b) The number of students in a hostel, speaking different languages is
given below. Display the data in a pie chart.

Language Hindi | English | Marathi | Tamil | Bengali | Total
Number of student | 40 12 9 7 4 72
Sol:
Language Number of student | Central angle
. . 40
Hindi 40 2 3600 = 200°
72
' 12
English 12 22 3600 = 60°
72
' 9
Marathi 9 2 3600 = 450
72
Tamil 7 7
— % 360° = 35°
72
Bengali 4 4 0 0
— X 360° = 20
72
Total 72
B
C

English

Marathi




